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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 e 3 37T F 15% 1 e H ) FHFT FT AT I T 14,030 ) FHH HeF I

forgar am
Tanya got an increment of 15% in her salary. If her enhanced salary is ¥ 14,030. What was

Question ID : 9864492467
Status : Answered

her original salary? Chosen Option : 4

Ans 1. F 12,400
X 2.T12,000
'3 712,200
X 412,300

Q.2 A X FAN Y & arer & seheliar der §1 afy A X & F5 oF A a6 A6 § 3 37 e s
Y & aEr & ar A X oSl Y W a gay g Question ID : 9864493774

Mr. X is the only son of Ms. Y’s grandfather. If Mr. X has no brothers or sisters and his Status : Not Answered
father is Ms. Y’s grandfather, then Mr. X is Ms. Y’s . Chosen Option : ==

Ans x =T (AT (6 A AT
1.

Uncle

S

Brother
ar

Father
E3ESEd
F

. Father-in-law

X2

3

Q.3 e et afy 4 km/hr Fr ST F TEETR G SR oM 1 SR 9Eer ge ST B
TME TE AT =TT FGTHT 5 km/hr T 21T &, T o 3T Teremet 24 e wgar g
m%laﬁﬁmﬁmﬁmaﬁv%aﬁﬁamﬂﬁquﬁam

A man misses a train by 1 hour if he travels at a speed of 4kmph. If he had increased his

Question ID : 9864492630
Status : Answered
Chosen Option : 4

speed to Skmph, he would have still missed the train by 24 minutes. At what speed should
he have travelled so that he reached the station exactly on time?

Ans % 1. 12kmph
/< 2.10kmph
« 3. 8kmph
« 4 6kmph

Q.4 T =T AT fargar grem?
M FET 14562, 9 T g A : Question ID : 9864492965
If the number x4562 is divisible by 9, what is the face value of x? Status : Not Answered



Ans x1_4
<23
K32
V&R

WWW. govtjobslale (L1 ceen opton

Q.5 g amwe #, 3ARE & v T veidl § dev B ARSI Us Afdes
afdeer (divATy) Hr SIHET Tenfie! UF SR §| 3o F[r A 82

The Center for Medicare & Medicaid Services (CMS), a federal agency in USA has an
Indian as its current administrator under the Trump regime. Who is she?

Ans ( . m ag:ﬁ_

Seema Verma

o, YT e
Rachel Paulose

x5, 3O AR
Aruna Miller

x4 gfAer Saarer
Pramila Jayapal

Question ID
Status

Chosen Option :

19864492354
: Answered
2

Q.6 o argst § ¥ FiF T Uy 3RS FNSS ¥ WY F AR S £
Which of the following metals displaces Iron from Iron Chloride?

Ans (1. mT

Zinc

&

Tin

Hrar
Lead
=er

Silver

X2

X 3

X 4

Question ID
Status
Chosen Option

19864493429
:Answered
14

A7 5184 T FeTHE FAT &2

The square root of 5184 is:
Ans x 1. 74
v2T2
X 3.82
X 4. 76

Question ID
Status
Chosen Option

19864492823
: Answered
12

Q8 Am Aftas # @ $ g ot & 7% FEF T 2

The sensation of sound persists in the human brain for about:

Ans X1_1 ﬁé—?:—';
1 sec
v 01 33
0.1 sec

x 5 05 ¥F

0.5 sec

Question ID
Status
Chosen Option

19864493263
: Answered
12




0.2 s
0.2 sec
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Q.9

Ans

GLED 2018 F ETRT WH F IeUET FH FAHN BREa HATGT? SEY GgS 7 €T
Feusd il (SLdiew) & @Ear a0

As of February 2018, who has taken charge as the Chairman of the Tata Sons empire,
before which he was the CEO of Tata Consultancy Services (TCS)?

N Chandrasekaran
et ooty
 Nandan Nilekani

Question ID : 9864492375
Status : Answered
Chosen Option :1

Q.10

Ans

B2m sk $ 15 O O F e 0 =@ o T T o H Fwd
e g 2

15 small rods, each of length 23% m are joined to make a big rod. What then is the length
of the big rod?

r 0 349% m

H
X2 349% m

v &3 349% m

X4 349% m

Question ID : 9864493831
Status : Answered
Chosen Option : 2

Q1

Ans

T FOAE A, T OE T AT G AT U gL 3 T el a1 FHEOT S £2
In a week, how many times are the hands of a clock at right angles with each other?

W 1308
X 2 44
<324
< 4154

Question ID : 9864492514
Status : Not Answered
Chosen Option : --

Q12

Ans

8% wid o WUROT == # T W AT T x 9T 5 ¥ & =4 3aeT & &
Torae o 7.5% WERUT S s31eT g7 X 6 I§f & forw Wafda o Ty m
x:y?ﬂﬂ'ﬂﬁd

Tx invested at 8% simple interest per annum for 5 years yields the same interest as that on
3y invested at 7.5% simple interest per annum for 6 years. Find x : y.

X116 : 15
X240 : 45
vig:8
X45:6

Question ID : 9864492767

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q13

Question ID : 9864494257

Status : Not Attempted and
Marked For Review

Chosen Option : --
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select the most appropriate term for the given set of items.

1 r
- °
a

4 ©

Seasons

TH

Snow

Q.14 R s/ =€ 0 X # W A Afganstt #r stew i amr g #

T AT Afgenst Fr sitaa e % @ F e T | e I

Average daily
Earnings (Rs.)

0

Multiple Bar chast showing men's and women's
Average Duily Eamings

(in Rs)
D = Mien (21 years and above)
% = Women (18 years and above)

7euT 3T ARgenst $r dwa A (7. #) 9T SR F gull w
E FH TR TEEA O (21 99 3 3o w5f0w) T Giw wower et
(18 I¥ 3k zmw afee) =1 ool = &

The chart shows men and women’s average daily earning in company X. The difference

between the average daily earning between men and women over the successive year is:

Average daily
Eamings (Rs.)

80

10

60

Muhtipk Bar chart showing men's and women's
Average Daily Esmings

(in Rs)
[] = Men (21 years and above)
¥ = Women (18 years and sbove)

Question ID : 9864493760
Status : Not Answered
Chosen Option : --




x, TWE

decreasing
, TR g
equal
T W@ E

increasing

x

v &3

X4
SIAT, HAM-oFT 9Y H a¢ A ue W@ g

both, increasing and decreasing in different years
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Q.15 s 9Ehiig 3= 3T & FFER ‘Big Clever Parrot’ &r 37 g

Parrot

] -
A |B clp [ -mig
Gﬁ O - Cirdle
H ! A - Clever

Select the option that means ‘Big Clever Parrot’ according to the following Venn diagram.

Parrot

A |B C|D :’-Blg
Gﬁ O - Cirdle
1
H A - Clever

Ans X1M
X 2B
viC
X o F

Question ID : 9864494361
Status : Not Answered
Chosen Option : --

Q16 BFEpRH F TH WA] FH o FT s 2 &7
The number of valence electrons in an atom of Phosphorus is:
Ans x 1.2
X23
X34
V45

Question ID : 9864493494
Status : Answered
Chosen Option : 1

Q.17 37 fyeeT 1 79= F{ = MN 9T fiRT & T8 I W 5ea R & o B R
AT et

M

<2

N

Select the option that depicts the correct mirror image of the following figure if the mirror
is placed at MN.

=

F !

Ans

Question ID : 9864494373
Status : Answered
Chosen Option :2
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X 4

Q.18 10 freir Fotet aTer T & 3STH TS Sele® W T2 AT Zaw A s g
Work done by a passenger standing on a platform holding a suitcase weighing10 kg is:

Question ID : 9864493081

) Status : Answered
Ans « .07 Chosen Option : 4

X 29807
<3987
X 41007

19 ‘ :
Q19 2018 # RIS Well H AsErel FIA e A2 FiA W &2 Question ID : 9864492190

Which country is going to host the 2018 Asian Games? Status : Answered
Ans AT Chosen Option : 4

1.
X Japan

X2 ST ST
South Korea

V5 AT

Indonesia

e

China

< 4

Q.20 7= o ¥ g v # BT s9gea B &7 939 J3 & Seedt § o F1 .
S Question ID : 9864494105

Status : Answered

Chosen Option : 4

1?
N

Select the option that fits in the blank space in the following figure.

K

Ans
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Q.21 7F W s AR i AR 579 IR W w B A9 Re e smgae A

. Question ID : 9864493772
¥ Fh T e R B uestion

Status : Answered
a&: Chosen Option : 3

TF T & 39 AT FF TR & B A T AR 9F T §E@ oI €
Forere F AT B

HTHTA:

1. 321 HAT AT =T B

2. far T B = meng &1
Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

A father advised his son that the shortest route between Chennai and Mangalore is via
Bengaluru.

Assumptions:

1. Son wishes to go to Mangalore.

2. Father gives advice to everyone.

Ans x1aa—c|?~r34§m1?r2ﬁ1%ﬁ%

Only assumption 2 is implicit

13k 2 3a ffa @

Both 1 and 2 are implicit
Faer A 1 Ak @
3.

Only assumption 1 is implicit

4‘ErFIT13ﬁTFr€12ﬁI%H%

Neither 1 nor 2 implicit

x

v

x

Q.22
Tsh aga:‘r’r%:ﬁzr il Question ID : 9864493457

Status : Answered
is a multicellular organism. Chosen Option : 3

Ans S fRTe
F !
Paramoecium

xgmﬁﬂaﬁﬂm

Cyanobacteria

HATShICelT=AT

| Mycoplasma
TIIRH
Agaricus

X3

o 4

|Q.23 (



NETE & 3Oy & %%%l alert.in Question 1D : 9864493048

Identify a use of the isotope of uranium.
Ans . E_ﬂ_‘é; STt & '%’EF-I'
Fuel in aeroplanes
, UY & 3R
Treatment of goitre
) Rueret & Sua
Fuel in nuclear reactors

X 4 FHUT FH IT=AT
Treatment of cancer

x

v

Status : Answered
Chosen Option : 3

Q.24 5 1w 37 AE F AN, I @S (non-athletic) AT sregenfea

(disciplined) TSt ®r Fer FE=T B

7
el B
P
&
[ —— poys () e  Athlehc

/N ——e @ine [ ] ——= Discplined

£

Boys - ®15% Athletics - T&remEr Girls - si3fam Disciplined - HTHT
According to the given Venn diagram, the total number of non-athletic and disciplined

boys is .

S>3 2

4
8
[0 —— Boys () ——  Athletic
/N —— oins [ —— Disciplined

Ans  of 110
X 21
~< 328
x 4.20

)

Question ID : 9864494060
Status : Not Answered
Chosen Option : --

Q25 oifd T SR I AT FHaT AT &
A unit of power is called a:
Ans v qTEhel
Pascal

Question ID : 9864493262
Status : Answered
Chosen Option : 2




Q.26 = T %, Swe Ao 71,2008, 1S xﬁ%ggﬁ\éﬂggfalp” in

Ans

5 %1 HIT B AT 7, AT SHHT T e F7 gemm?

A defective piece of article which costs T 1200 is being sold at a loss at 15%. If the price

is further reduced by 5%, find the S.P?

< 1. 960
# 2. 1000
#3990
W 4 T 969

Question ID : 9864492608
Status : Answered
Chosen Option :1

Q.27

Ans

T Ao & Fia @1 ot R 70 e #7 awqer AET S g

HUA:

HFET ST TSN AT a1 F i B e WA d= 2@ S
forsd:

1. 57 Rkanst & ey @ 0 F B e S Aeg o

2. Gy S fHe faar s Reranst #F 39en A a9 F fow Fo e

FEfEm & AT T
Decide which of the conclusions logically follow(s) from the information given in the

statement.

Statement:

People are often seen selling things on the footpath in busy market areas.

Conclusions:

1. Take help of police to clear the footpath from these vendors

2. Some place should be allotted to these vendors to sell their goods without blocking

the footpath

e o 1 3rgERoT T &
| Only conclusion 1 follows

(1 3T 2 2 HgEor = §
Both 1 and 2 follow

. ol fTshy 2 3TN HAAT &

Only conclusion 2 follows

T HR A & 2 HeFEor e §

x

v

x

x

Neither 1 nor 2 follows

Question ID : 9864493693
Status : Answered
Chosen Option :1

Q.28

v v Reedt # ¥ T TR YeE-GIA AT HL
GERI

Select the option is which the two words are related in the same way as the words in the

given pair are related.

Rapid : Slow
x 1 SO FLATEA TgaT
Wait : Remain
X2 EEEIT%I‘IWT
Stare : Peer
EHGIRIEGI

3
Increase : Shrink

Question ID : 9864493826
Status : Answered
Chosen Option : 3




TeheAT- HATCT HL=AT

4.
X Stop : Cease
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Q.29 FH AAEA IHAA F I fohed ‘Foiar I & e oo s i
QUERN 91 E3T &7

‘Which Malayalam actor received the Special Jury National Award for the Telugu film
‘Janatha Garage’?

Ans
T 30T
x . 30
Suresh Gopi

XZ-?
Prithviraj

v £ ILEEIR
Mohanlal

HHST
X4 ™
Mammooty

Question ID
Status
Chosen Option

19864492353
: Answered
14

Q.30 FH=AIT AW & A HEEAT i AT FeUA FHSAT F A rcedt fHe=tar
GG
By how many atomic mass units do subsequent members of homologous series differ?
Ans x 1.32
X 226
v 14
X 420

Question ID
Status

Chosen Option :

19864493552
:Not Answered

Q31 gfe 23 x 19 =437 & 0.0437 ~ 1.9 =?
23 X 19 = 437. How much is 0.0437 = 1.9 =?
Ans  of 1.0.023
< 2.0.23
K323
< 4.0.0023

Question ID
Status
Chosen Option

19864492700
: Answered
12

Q32 37 Reed & TUT Y ST &7 TS YWAT HI 0T HIAT g

UE5I TFJII SGEJ RH3; -
Select the correct option that will complete the given series.

UE,, TF,,SGe, RHs,
Ans X 1. Qlg

v 2 Qly

X< 3.Qly

< 4 Ql4

Question ID
Status

Chosen Option :

19864493920
:Not Answered

Q.33 37 ST ¥ SIE FEAT Hi7 A § 8 202 F F T 9T T qUT F97 AIe e 82
The least number that must be subtracted from 202 to make it a perfect square is:

Ans «1_ 6
X210
X314

Question ID :

9864492600

Status : Answered

Chosen Option :

1




X 48
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Q.34 gr fam X AR Y v T A & A9 AT O A &; X afdor s 20
Toreiafte =T ¢ 3 Y 9F & 3R 15 Bredet awar g1 X iR Y F d@r
wEE FH gl 2l

Two friends X and Y start from a place A: X moves 20 km towards South and Y moves 15
km towards East. The shortest distance between X and Y is

Ans W_zsmﬂm
25km
45 fFaraEeT
45 km
35 fFaaeT
35 km
50 AT

50 km

X2

X3

X 4

Question ID : 9864494031
Status : Answered
Chosen Option : 3

Q.35 a7 S & T WA A1 Hifere fra 1875 1 Rreaiera &{e 7 v qoT 391 ured
A

The smallest number by which 1875 must be divided to obtain a perfect square is:

Ans x1_2
V23
X35
X a7

Question ID : 9864492480
Status : Answered
Chosen Option : 2

Q36 3r=1frer gfeRer arer =meles &Y 4T Sl =rar 272
A conductor having some appreciable resistance is called a:
x 1 3-=Telh
Semi-conductor

EIGEBED

Resistor
BIGED

" Conductor
x o

Insulator

Ans

v 3

K3

Question ID : 9864493506
Status : Answered
Chosen Option : 2

Q37 Ru v FElE SIS & HUR W HUedd e g4

gﬁ?#ﬁﬁﬂmg}ﬁﬁ\ 2

Select the missing term based on the given related pair.

@ :Kennel :: &) J;E\:?

Ans 4
;. e
Nest

Question ID : 9864494230
Status : Answered
Chosen Option : 4




qafremer
.Aviary
<3 s

Shed

T
¥ E
Den

K2
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Q.38 fraft gear 1 v AT Ao gea Hr AR 5 1 g & e 9T 9 & qE s
@ HroT T AT (F2ar ) Far geie
The length of a minor arc is%of the circumference of the circle. Write the measure of the

angle (in degrees) subtended by the arc at the centre of the circle.

Ans x 1. 60
< 230
v 3 80
X 4.50

Question ID : 9864492491
Status : Answered
Chosen Option : 2

Q.39 gl & gaNT FIT HT TG ANAT AT ToT FAT FHgaldl g7
What is the upward force exerted by water called?

Ans x TTcaHYUT ATFT (Gravitation)

Gravitation
3ctolldsh & (Buoyant force)
2

| Buoyant force
< 3. Zhbd
Friction
4
' Density

Question ID : 9864493039
Status : Answered
Chosen Option : 2

Q.40 150 #Hrex 3R 130 AT 7= 3F ¢ vF g F fawde foam F =weh g7 7.2
UohE & U AL F IR HL AT &l Al gl I AT T 9fy g Bhaar
e
Two trains, one 150 m long and the other 130 m long, coming from opposite directions

crossed each other in 7.2 seconds. The sum of speed of the two trains every hour would
then be:

Ans x 1 280 holtATeT
280 km

, 140 TrerereT

140 km

105 et

105 km

70 TeRettdEeT

70 km

v

< 3

X4

Question ID : 9864492750
Status : Answered
Chosen Option :1

Q.41 F T ¥ =ichgs ¥Fwar o o9 FFT &, FR AT S g5 Aew 5
‘Which top Bollywood actor has been a long-standing brand ambassador for the car maker
Hyundai Motors?

Ans HAATT T
1.
Salman Khan

Question ID : 9864492311
Status : Answered
Chosen Option : 3




, HiPSs T==a
Abhishek Bachchan
- AMETE WA

3
Shah Rukh Khan
HaEaT ETFI'IT

< 4
Akshay Kumar

X
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Q.42 fm & 75 F grer & 7 Y 9o e B S \fger gufEawtr w
Ha &2
‘Which union minister recently launched the NART portal which focusses on women
empowerment?

Ans v ATRT e
Maneka Gandhi
e darEs
Nirmala Sitharaman

X3.m 5

Uma Bharti

., T fm

Smriti Irani

X2

Question ID : 9864492247
Status : Answered
Chosen Option : 2

Q.43 ot % TE AU H, FEIA 5 Ged A IR AU F FeAA FH Ao
g e g

In a water molecule, the ratio of mass of Hydrogen to the mass of Oxygen is always:

Ans  of 1.1:8
X 21:7
X 3 81
X471

Question ID : 9864493247
Status : Answered
Chosen Option : 4

Q44 gfr tane =2 + 1,8 & tana— cota FHT ATF FAT FIM?
Iftanu=\ff + 1, then the value of tano — cotao is:

Question ID : 9864492757
Status : Answered

Ans X 1\[7_ 1 Chosen Option : 3
X 21
X2
V2

Q.45

Question ID : 9864494020
Status : Answered
Chosen Option :1
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AT A H

T W eAae R #Y AR 38F AU W/ & & o
¥ #ia wvd swd e B

aF:
TF BT T o BfoF 7 Fal "3F e Fensir|

HelATA:

2

1. #fe 1 uan § & e 3T TR ox 9 g9 g
2. AT ST P AT T T4 I El

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
An army general said ‘Shoot Now” to the soldier.

Assumptions:

1. The soldier knows where and what to shoot.
2. The army general doesn’t know to shoot.

Ans v Faer AT 1 fAfga &1
1.

Only assumption 1 is implicit.
1 3k 2 =t @AfgT &
Both 1 and 2 are implicit.
i e 3T 2 g g
| Only assumption 2 is implicit.

4;;&1,332%‘%3%

Neither 1 nor 2 is implicit.

x

x

x

Q46 37 T RepoT P T S REITTE ATET H QU B

4, 8, 12, 24, 18, ?
Choose the correct alternative which will complete the following series.

4,8.12,24,18.7
ans of 136
X254
X 27
X472

Question ID : 9864493673
Status : Answered
Chosen Option : 4

Q.47 we #15 #, °fg PEARLS & 823745 farem =imar & 3w JEWELS &' 926245
forar =Iem § o 38 w5 F WEARS # @ faar smeem?

In a certain code, if PEARLS is written as 823745 and JEWELS is written as 926245, then
in the same code, what will WEARS be written as?

Ans (1. 62573
~ 262735
X 3. 62374
v 4 62375

Question ID : 9864493990
Status : Answered
Chosen Option : 4

Q.48 =itefr oraTedy #r yana H, TIedt F TF T W WHST TN #
ferar am
At the beginning of the 4" century CE, the Guptas established a small kingdom in .

Question ID : 9864492087
Status : Answered
Chosen Option : 4




< 4
Malwa
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Q.49 el 73 fger & ot 1 F57 o fine 59 v F =R W § & oR
P &1 veds oo 3uF wo & @ T #r g F o F e e &
R 2l it o feget & swdt & A ot O 58 fee & sewa @

3T AT FT?

Three triangles are marked out of a bigger triangle at the three vertices such that each side
of each of the smaller triangles is one-third as long as each corresponding side of the
bigger triangle. The ratio of the area of the three small triangles taken together to that of
the rest of the bigger triangle is?

Ans X'1.3:1
K21:3
vs31:2
K41:9

Question ID : 9864492815
Status : Answered
Chosen Option : 4

N0 e dr T TAEg AR IS & e §?

T [$s| W] R

1 2 3 4
Select the figure which does NOT belong to the group.

L[S F

1 2 3 4
Ans x1_2

X23

v

X4

Question ID : 9864493734
Status : Answered
Chosen Option : 3

Q.51 a’EF J?I' m" EnHT %._

A bank always has a/an:

Ans
EEECED

Manager
X2 T,

ATM
[CIGIIECT

. Account holder

r 0

W3

Question ID : 9864493872
Status : Answered
Chosen Option : 4
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X 4

Locker

Q.52
CeHis T I FREIHe g2 § | Question ID : 9864493451

Status : Answered

The formula CsH;4 represents the hydrocarbon . Ghosen Option 12

Ans m
b !
Heptyne
x , oFE

Hexene

FERIED ]
Hexyne
o 4 %?Rﬁ?-l'

Hexane

X3

A3 & 75 Al F HAZ & T HIH IUFHA g A Question ID : 9864494182

Status : Not Answered
Chosen Option : --

il [ |

Select the most appropriate term for the given set of items.

il M |

Ans X1_=11'ﬁ‘m

Mathematics
X2 Qm
Rubrics
| TaeersoncAs
Analytics
Bl
* Graphs

v

Q.54
Question ID : 9864494388

Status : Answered
Chosen Option : 2
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OT 3idfatad 7

T
vt T o & 0l aeg & E g I E

RO
1. 91 39 #{ AR T F A AL
2. A FTEfeT = I &Y 5 |
Consider the given statement to be true and decide which of the assumptions is/are

implicit.

Statement:

A traffic board reads *Speed thrills but kills".
Assumptions:

1. Drive fast and experience the thrill
2. Fast driving will attract heavy fine.

W
o dar o 1 X 7 & gror 2 daEEa 2

Neither assumption 1 nor 2 is implicit.

. FaeT IO 2 & dAafAeT 2
Only assumption 2 is implicit.

| @t gRome 1 #R 2 sidfate €
Both assumptions 1 and 2 are implicit.

der UOT 1 dafefed &

Only assumption 1 is implicit.

x

x

X4

Q.55 p, @ N R TT BT, SEF ATA Y UF & H FA: TFewat A, BT CcH

Ans

T a1 IfE P, Q 3T R 3rFor-37For HfoId 21 I Wil & I FAT: 30
e, 20 e 3T 10 e A sw oo €1 = & @i gar 2 3T i &t o

et fodr sy €, 2 3 e e 3 A Frermr ¢ 7 o w g

P, Q and R are channels which discharge solutions A, B, C respectively in a tank. When
the tank is empty and all the three channels are opened what is the proportion of the
solution C in the tank after 3 minutes, if the channels P, Q and R can fill the tank from
empty to full in 30 minutes and 20 minutes and 10 minutes respectively when they are
opened one at a time.

X5
X 26

6
i3
11

X4.i
11

Question ID : 9864492512
Status : Answered
Chosen Option : 4

Q.56

Ans

e Tzt & F uger 31, B arel ¥ Y e 0 3 18 9 & s wea
et Y I K &F 15 g F Ter a1 g g1 i F @er B
T Al T S T Frower Fe § A i feaw ue § I sw S

Out of three pipes the first two can fill an empty tank in 9 and 18 hours, respectively while
the third can drain the filled tank in 15 hours. If all the three pipes are opened when the
tank is empty, after how many hours will the tank be full?

X112
X213
X311

Question ID : 9864492931
Status : Answered
Chosen Option :1
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Q.57

Ans

8 IR & 9aieteT @ Hives v seem e &
Which type of reproduction allows for greater variation to be generated?

v
Sexual reproduction

- T ICECEGE
Multiple fission

x5 37l f3Ter Tatetet
Asexual reproduction

x4 EIECHBCLCED)
Binary fission

Question ID : 9864493218
Status : Answered
Chosen Option : 1

Q.58

Question ID : 9864493912
Status : Answered
Chosen Option : 4




Problem Figures:

A B C D

Answer Figures:

¥

1 2 3 4
Problem Figure - T&&ar =

Answer Figures - 3caX HTpiaam

Choose the correct figure that replaces the question mark.

Problem Figures:

A B C D

Answer Figures:

1

Ans ?(1_4
x22
31
Vi3

(£
[
e

Q3 O F & +iF @ uie, =7 ®efr & e 3= 2

Which of the following solutions is the most acidic among them all?

Question ID : 9864493350
Status : Answered



Ans

pH AT 0 arem gier
1‘ Solution with pH value 0
pH AT 1 T et
’ Solution with pH value 1
pH AT 7 =el ©rel
’ Solution with pH value 7
pH A 6 drem =iel
. Solution with pH value 6

v

x

x

WWW. govtjobﬁalert. 1N 56 Option 1

4% 6084 = A e §2

Ans

The square root of 6084 is:
<182
<276
<374
v 78

Question ID : 9864492923
Status : Answered
Chosen Option : 4

Q.61

Ans

e T R R Rk T s T a s s e = a8
F @ Fum goem7

FaT # o $ Fo wEa e §?

FU:
1. X FIF T AT 15781
2. X T F T IIT T 267 T

Cansider the following question and decide whether any of the statements in the
given statement are adequate to answer that question.

‘What is the total number of students in the class?

Statements:
1. Mr. X’s rank was 15th from the top in the class.
2. Mr. X’s rank was 26th from the bottom in the class.

<
99T &F 3ca¥ & & faw ar ar 1 a1 2 gareT B

Either 1 or 2 is sufficient to answer the question.

X2
3Rer 1 TATeT § Saf 99 F 3col 3 & [T 3T 2 qEeT AT 3l

1 alone is sufficient while 2 alone is not sufficient to answer the question.

X3
3ol 2 TATST § FEeh T FT 3ca &7 & [o0T 3%ker 1 TATeT 4T F

2 alone is sufficient while 1 alone is not sufficient to answer the question.

o 4
T3 FT 3o} &7 & forw 1 3 2 S Beet T £

Both 1 and 2 together are sufficient to answer the question.

Question ID : 9864494378
Status : Answered
Chosen Option : 4

Q.62 7fy TR x* + kx + k = 0% T = & O k F1 AT AT # &

Ans

Fr Fem?

Ifx* + kx + k = 0 has repeated roots, then the value of k will satisfy:
k=47 k =0
k=4o0ork=0
x, 0<k<4
0=k=4

Question ID : 9864492756
Status : Answered
Chosen Option : 1
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331—:43{1{ =4
k =4 only
4‘kﬁi[)2IT k=4
k<Oork=4

x

Q63 1 ¥ 100 (St wiEafea) o Tl Fwanst #1 et Faar gem?

The sum of numbers from 1 to 100 (inclusive of both) is

Ans 1. 5505
v 2. 5050
X 3. 5500
X 4 5005

Question ID : 9864493782
Status : Answered
Chosen Option : 4

Q64 Rl 7 F d¢ W Tug 2
Delhi is located on the banks of river .

Ans a.l_d.h_:ﬁ.‘
r 0
Gangotri

Question ID : 9864492098
Status : Answered
Chosen Option : 4

Q.65 T ueh A & TEifSa fhU ST Tl arel Scidreld 6 Afdeha dear e
A W R w &

The maxinmum number of electrons that can be accommodated in a shell depends on the
formula:

Ans X 1. 1n2
' 2 an?
X 3. n2
X 4302

Question ID : 9864493193
Status : Answered
Chosen Option : 4

Q.66 s @1 it ad srhere Tt & arfdEe g o or it s oREs
TS WER & facg, aiftew st g &5 §7

Which famous Indian economist joined politics and is now the Finance, Commerce and
Industries Minister of the Government of West Bengal?

Ans x1_ma?-r%|’a—=ﬁ

Sovan Chatterjee
o, FhE dersft
Abhijit Banerjee
X3 faaer &fea

Avinash Dixit
o, 3

Amit Mitra

Question ID : 9864492168
Status : Answered
Chosen Option :1

Q.67

Question ID : 9864493625
Status : Answered




3R ToRET el @ wioRrer smer &Y e W\Q(M\é&gr%tjogﬁalert I rLhosen Option : 1
e

If the resistance of a conductor is reduced to half its initial value, then the heating effect in
the conductor will become

Ans 3-'||E||
W
half
x> EIES ?;IFIT
four-times
X3 2
double
. @ Ttmg
one-fourth
Q.68 - =T A Question ID : 9864493651

Jad I EE-C

2001 |¥ 1,500 (%200 500 | T100
2002 | 2,600 | T300 | T600 | T200
2003 | ¥3,200 | T150 | T700 | T 150
2004 | ¥4,100 | T250 | T650 | T125
2005 | ¥5,000 | T200 | T800 | & 150
2006 | 5200 | 100 | T750 | T175
a¥ 2001 : 2006 & 2N, daa 1 IS © 9T AT =TT F

Items of Expenditure

Salary | Food | Medicine | Tax

2001 | ¥1,500| %200 | %500 2100
2002 | ¥2,600| 3300 | 600 200
2003 | ¥3200| %150 | 700 150
2004 | ¥4,100| %250 | 650 125
2005 | ¥5,000| %200 | %800 150
2006 | ¥5200| %100 | 750 2175

Year

The ratio of salary : expenditure per year during period 2001 : 2006 is

Ans X 1.105/71
V2 216/61
# 3. 71/105
/< 4.71/108

Status : Not Answered
Chosen Option : --

Q.69 519 21 N¥F U a1 i 3 Rl G afell a&q T 9 ofial g af
3c0edl caloT e gham?

‘What will be the acceleration produced when a force of 21 N is applied on an object of
mass 3 kg?

Question ID : 9864493400
Status : Answered
Chosen Option : 1

Ans X1 0 7ms-2
v 2 Tms-2
/< 3.0.007ms-2
& 4 70ms-2

Q.70 3z e e W v TN Taate 1 Jqea < 14,000 BT 1 &1 A T HT T 12% 7,
FRfaee S ae ST mT

The price of a Television is ¥ 14000 inclusive of VAT. If the rate of VAT is 12%, find the
basic price of the Television.

Question ID : 9864492568
Status : Answered
Chosen Option : 2

Ans 5 1. T 13,000
X 2.T12,000




W 312,500
< 4.T 13,500
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Q.71 dtert @1 AT goAAT T B
is a part of the male reproductive system in plants.

Ans qm

K3
Stigma
Style

K4

Question ID : 9864493495
Status : Answered
Chosen Option :2

Q.72 AT 2% - 6x + k = 0 FHAATTH x = 2 §| gAT A foaw 72

One of the roots of the equation x* - 6x + k = 0isx = 2. The other root is:

Ans «1_)(:4

K2x=-4
Kax=1
Kax=-1

Question ID : 9864493037
Status : Answered
Chosen Option :1

Q.73 ae g0 & Fw TEG W T W I S §, @ ofF sl
In a concave mirror when the object is placed at infinity which of the following applies to

the image?

Ans x1.
T & Fg (C) 9T T & HHR T JarEaias, 3ed! o

Real, inverted image of the same size at centre of curvature (C)
2
g W I, 362, AT FHiAd o

Real, inverted, highly diminished image at focus
K3

TFHA g (C) AN TEw B (F) % 99 awatas, 3o, d5ta
Real, inverted, diminished image between centre of curvature (C) and principal focus (F)

X4
Tl & &5 (C) T A, o€, Feafow adr g& ofy

Real, inverted, highly enlarged image at cenfre of curvature (C)

Question ID : 9864493424
Status : Not Answered
Chosen Option : --

Q.74 2016 eifeF FHET g Aaar ol #few e o & &2
The 2016 Olympics bronze medallist Sakshi Malik hails from which state?

Ans «1. gmm

Haryana
X2 fag
Bihar
X 3. Scc{r=e

Question ID : 9864492199
Status : Answered
Chosen Option : 1
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x4 AT
Punjab
Q75 grefaverrdt T fvas w9 & afenRa frar = %‘? Question ID : 9864493156
Parthenocarpy is defined as: Chosen 2::2: Not Answered
Ans v fordr=rer & ToaT Tt & e

Development of fruit without fertilisation
o ey T & Fer
Development of root with fertilisation
, Forererer o o EEICAECIe )
Development of root without fertilisation

, T & e et & Taerre
Development of fruit with fertilisation

x

x

x




